mE wiE {EEY
‘R e i (R&(T) Fbg .
=t *’z 2. - FERR- MG
10ad1=Y 5 @B (1) Y- ek B M
992.0 o & i ol
] Rig - B R = ifit FEE 3
1. BEETIVINE B[ | EZ—ILn R 7,000,000 7,000,000
1HH 10adp1=Y Bz 5.4m X 45m X 448 1 10
Iz # &2 (ke) 3,000 ) EEE 6,000,000 6,000,000
A B {fi (F/ke) 900 1 15
(@) 2,700,000 s
# e A 20,000 .
e * & 44,000
BEERE 19,000 5
s REBNE 18,000
g T OMEEM & 20,000 (2)BWEE-Eil
B[ EpeRUBS 0 i & T 2%
T B RUKFIE 0 ] RS- B = it FEE 3
R 889,000 |FEFHH-EE 1t | ~5945— 2,300,000 2,300,000
it (2] 1,010,000 25ps 1 7
E ANEB 0 ) 5 T A 150,000 150,000
INEEE 23,000 1 7
B | PHRRUAFEEE 62,300 |EE & ER 3 BAEER 150,000 150,000
E CR- -1 8,000 1 7
# AL E 721,050 4 Brovy 750,000 750,000
XIFIF 19,000 1 4
it (3] 833,350 5
7 & i [0+0=0] 1,843,350
B/ %8 0-@] 856,650 6
& E 31.7% ;
8
3. ¥R EE
~HARE M~
® 10abm =Y DREELT S, ©® RFimENE
@ BRFEEIE L RHRTEDOHLT B, S EEMAFHI-KVELRT S,
@ BE-IBH - EMHFPIAQEMEESEIZT D, &I -t EMEDEEREERIREL, BRRBICH TR AE-HEE
@ NIRBEEMLIEICIEDORBEERE, ISTHHET 5,
4. FERTTa—)L
B-f] 1 2 3 4 5 6 7 8 9 10 11 12
L F[p[FlE[R[F| L[ F[E[R[ T E[[F{E[R[F[E[R[F[E[R[F|L[R[F[E[R[F[L[R][F[E[H[F
1 [BLFEKRER |
2 |EHEfE
3 [FEHE
4 |FHITT-RYMEY ||
5 |i&sK -8R
6 |RE R
7 |IRFE-
8 [ A ftiT




